Polar Coordinates, Graphs, and Equations Review

1. Name the shape, its axis of symmetry, and match the appropriate equation:
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Equation Matching Bank:
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Polar Coordinates, Graphs, and Equations Review

2. Sketch the following graphs on the grids given below: You may use your calculator.
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Polar Coordinates, Graphs, and Equations Review

3. Graph the following points:
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4. Solve the following systems (find the intersection peints and sketch):

Give your answers in degrees and radians.
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Polar Coordinates, Graphs, and Equations Review

Convert each rectangular coordinate to a polar coordinate give answers in degrees and radians.

(#5 and 7 are calculator INACTIVE, while #6 and 8 are calculator ACTIVE)
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Convert each polar coordinate to a rectangular coordinate (do notuseac t’or)
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Convert the equations from polar te rectangular or rectangular to polar,
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7. 3x-y =10
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